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k1
N
N

I': energy optimal interval of sensor data
transmission”

l'=%[l+ll(z)]. where

Wix) is a product log function and

'1'1(1 (k-l)(el"-l)—l‘l
\ 14+n(%-1)

i

startTime=obtain current time

while elapsedTime < I
collect sensor data
currentTime= obtain current time
elapsedlime= currentTime - startTime

R A S

6 end
7 send out all collected sensor data items

(@) OUX] £EX WA HlolE HE 222lF

Notations Description
A failure rate of a sensor device
v expected time to send out all collected
sensor data items
R required time to recover a failed sensor
device
" expected energy expended per time-unit for
» probability variable L
x X
L
-
n R
Ui

(b) 712 82

1
g
(o'

A Power-Optimal Data Transmission Interval (/)

0.003 229.169
0.005 154.363
0.007 117.185

U=10, R=10,v,=0.02, v, = 0.4 (k= 20), 7, = 0.4 (n = 20)
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O.20f : -+« 1=0.003
—  1=0.005
0.15¢ -=  A1=0.007
0.10}
0.05}
- F
0 200 400 600 800
EHI0
k Power-Optimal Data Transmission Interval (/)
1 56.7621
5 92.1336
10 118.956
50 215.564

A= O'mS- U= 10. R= 10, A"I Ed 0.02. AI'R =0.4 (n = 20)
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